


Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 1

Tie Rod End,Outer,Right
L:97mm,Inner Thread M14x1.5mm

Thread L:41mm,Height:66.5mm,
Fixed Dia:12mmOuter thread:10x1.25

020-1001
48520-H1001

Tie Rod End,Outer, Le�
Inner thread:M14x1.5mmL:95,

Height:66.5 Thread L:45mm
Outer thread:M10x1.25mmDia:12mm

020-1002
48640-H1001

Tie Rod End,Right
L:232mm,Outer thread:M20x1.5mm
Thread L:62mmH:75mm,Dia:16.2mm

Outer thread:M14x1.5mm
020-1003

48561-T3025/48521-H5025/48521-W5025

Tie Rod End
Le�M14x1.5mm

020-1004
48641-H1001

48641-H5025/48641-W5025

Tie Rod End, Inner, Right Nissan Sunny 
L:112mmThread 1:M10x1.25mm

Thread 2:FM14x1.25mm
020-1005

48521-H1001
48521-H5025/48521-W5025

Tie Rod End, Inner,
Le�M14x1.5mm

020-1006
48641-H1001

48641-H5025/48641-W5025

Tie Rod End, Front, Right
M14x1.5mm
020-1007

48520-W1025/48520-01F25

Tie Rod End, Le� 
Nissan Bluebird 

Inner thread 14mmTaper:14mm
020-1008

48640-W1025/48640-01F25

Tie Rod End, Right
Inner thread:M12x1.25mm

Cone:13mm
020-1009

48520-D0126/48520-D0100

Tie Rod End
Datsun
020-1010

48521-01W00

Tie Rod End Datsun 
PickupL:124mm Outer thread:M18x1.5mm
Thread L:51mmHeight:70mmDia:13.5mm

Ext thread1:M12x1.25mm
020-1011

48520-01W00/48520-01G25

Tie Rod End
Ext thread:M12x1.25

020-1012
48520-31G25/48520-7F000

Tie Rod End
Thread 1:M12x1.25mm

Thread 2:M16x1.5mm, Cone Size:14.5mm
020-1013

48570-31G25/48521-31G25

Tie Rod End
L:150mmThk:68mm

Ext thread:M12x1.25mm
Ext thread:M16x1.5mm, SW:18

020-1014
48570-61G25/48521-31G25

Tie Rod End
Urvan

020-1015
48520-27N25

Tie Rod End
Caravan E24
020-1016

48521-01N25

Tie Rod End
M14x1.50mmH:77mm, Dia:13.5mm

Ext thread: M12x1.25mm
Ext thread 1: M14x1.5mm

020-1017
48521-01L25/48521-01L01

Tie Rod End
020-1018

48520-J0127
48520-j0125/48520-j0100
48540-J0100/48540-J0125

Tie Rod End
020-1019

48521-J0127
48521-J0100/48521-J0125
48641-J0125/48641-J0100

48520-D0125/48520-01E25/48520-01E26/48520-02E25/48520-02E26
48520-0M025/48520-2J000/48520-35F25/48520-4B000/48520-4Z025
48520-50A25/48520-50A26/48520-50Y00/48520-50Y25/48520-53M25
48520-73J25/48520-73J35/48520-BM400/48520-BM425/48520-D0125

48520-D0126/48520-Q5601/48520-4B025/48520-9C025

Tie Rod End
L:263mmThk:72mm, M18x1.5mm

M12x1.25mmSW:19
020-1021

48521-2S485/D8521-VK91A

Tie Rod End
L:115mmThk:71mm

M18x1.5mm, M12x1.25mm, SW:19
020-1022

48520-2S485/D8520-VK914

Tie Rod End, Front, Le� & Right
020-1023

48520-2S484

Tie Rod End, Outer
020-1024

D8520-0W025/48520-0W025

Tie Rod End
M12x1.25mm
020-1020

NISSAN CATALOGUE

Tie Rod End



Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich

Tie Rod End
L:172mm,Thk:82mm

M12x1.25mm,M12x1.50mm,SW:22
020-1025

48520-VB025
D8510-VS40A/D8520-VS40A

Tie Rod End
L:172mmThk:82mm

M12x1.25mmM12x1.50mmSW:22
020-1026

48570-VB025
DB570-VS40A

Tie Rod End
L:153mmThk:80mm

M14x1.5mmM25x1.5mmSW:22
020-1027

48520-G9502/48570-G9501
48520-C6079/48520-C8400/48520-C8410

Tie Rod End
L:213 mm, Inner thread:M14x1.5mm

Ext thread: M10x1.25mm
020-1028

48520-0410R
48520-00Q0D/48520-00QXD

Tie Rod End,
L:213 mm, Inner thread:M14x1.5mm

Ext thread: M10x1.25mm
020-1029

48520-2867R
48520-00Q0C/48520-00QXC

Tie Rod End
020-1030

48520-01J10

Tie Rod End
L:176mmThk:72mm

Int thread: M30x1.5mm
Ext thread:M14x1.5mmSW:22

020-1031
48570-01J10

Tie Rod End
L:145mmThk:92 mm

Int thread: M18x1.75mm
Ext thread: M16x1.5mmSW:24

020-1032
48520-VW025/48520-VW000

Tie Rod End
L:90mmInt thread:M14x1.5mm

Ext thread:M10x1.25mm
020-1033

48520-00QAN

Tie Rod End
L:90mmInt thread:M14x1.5mm

Ext thread:M10x1.25mm
020-1034

48520-00QAP

Tie Rod, Outer, Le�
020-1035

48640-CG085

Tie Rod End
L:170mmInt thread: M14x1.5mmH:84mm
Fixed dia:15mmExt thread: M14x1.5mm

020-1036
48520-CG025

D8520-CG80A/D8E20-CG80A

Tie Rod End, Outer, R/L
020-1037

48520-01B25
48520-17B25
48520-41B25

Tie Rod R/K
020-1038

48510-Z0025

Tie Rod End
L:214Thread 1:M12x1.25Thread 2:M10x1.25

Cone:11.7Cone PITCH:1/5Dia 1:14.5mm
Thk: 71mmSw:17

020-1039
48520-3U025/D8640-EW00A/48640-3U025

Tie Rod End
020-1040

D8570-VS42A
48570-VD225

Tie Rod End
020-1041

48520-95F0A/48520-0M085
48520-15U25/48520-71L25
48520-60Y25/48520-15U26

Tie Rod End
L:94mmM14x1.5mm,Cone:14.6mm

020-1042
D8520-OP725

48520-0P725/48520-3S525
48520-4P025/D8520-VK90A

Tie Rod End
L:110 mmThk:68 mm Int thread: M14x1.5mm

Ext thread: M10x1.25mmSW:17mm
020-1043

48520-AX602
48640-AX602

Tie Rod End, Right
020-1045

D8E20-JG00A/48527-JD014
48520-0604R/48520-JD01A
48520-JG00A/D8520-JY00A
48520-0604R/D8520-JY00A

Tie Rod End, Right
020-1046

D8520-9Y025/48520-9Y025
48520-EB70A/D8520-4JA0A
D8520-9Y00B/D8520-EB70A

Tie Rod End, Front, Right
L:200MMInt thread: M14x1.5

External thread :M10x1.25
020-1047

48520-AX600

Tie Rod End, Front, Le�
M14x1.5mm
020-1048

48640-AX600

Tie Rod End, Le�
L:181mmInt thread M14x1.5mm

Ext thread M10x1.25mm
020-1044

48647-JD01A/48520-7812R/48640-JD01A
48640-JG00A/D8640-JG00A/D8640-JY00A

D8F40-JG00A/48520-7812R/D8640-JY00A/48521-8H386

2

NISSAN CATALOGUE

Tie Rod End



Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich

Tie Rod End, Front, Le�
L:197mmThk:70mm
Int thread:M12x1.25

Ext thread:M10x1.25mmSW:15
020-1049

D8640-1HA0A/D8640-1HJ0A

Tie Rod End, Front, Le�
L:197mmThk:70mm
Int thread:M12x1.25

Ext thread:M10x1.25mmSW:15
020-1050

D8520-1HA0A/D8520-1HJ0A

Tie Rod End
L:200mmM12x1.25mm

M12x1.25mm
020-1051

48527-1U61A

Tie Rod End
020-1052

48521-01G25

Tie Rod End
Cone pitch 1:8, Cone size:14.9

Moun�ng L:92mm
020-1053

48520-HA000

Tie Rod End
Conical:13.3mm

020-1054
48520-G5225

Tie Rod End, Le�
Cone pitch:1.5mm/Cone size:11.8mm

Moun�ng L:152mm
020-1055

D8640-ET00A

Tie Rod End, Right
Cone pitch:1.5mmCone size:11.8mm

Moun�ng L:152mmM12x1.25mm
M10x1.25mm
020-1056

48520-ET00A/D8520-ET00A

Tie Rod End, Outer
L:238mmThk:93mmM14x1.5mm

M12x1.25mmSW:19870gms
020-1057

D8640-JA00A

Tie Rod End
020-1058

D8540-JA00A
D85F40-JG00A

D8640-JG00A/48647-JD01A

Tie Rod End, Outer
LHL:230mmM16x1.5mm

M14x1.5mmH:85mmW:57mm931gms
020-1059

48520-7S025

Tie Rod End, Outer, RH
020-1060

48640-7S025
D8640-1LA1D

Tie rod End
020-1061

D8520-OW025

Tie Rod End
L:159mmThk:88mm
M12x1.5mmSW:19

020-1062
D8520-AL525/48520-AM625
48520-AL525/48520-CD725

Tie Rod End
Cone size:14mmCone pitch:1/6

M12x1.25mmM14x1.25mm666 gms
020-1063

48640-AM625
48640-AL585/D8640-AL585

Tie Rod End
020-1064

48520-EA025

Tie Rod End
M14x1.5mmM16x1.5mm
Cone Size:14.8mm871gms

020-1065
48640-EA025

Tie Rod End, Le�, Outer
020-1066

48520-EG025/48520-EG026
D8520-4GA0A/D8520-EG025
D8520-EG00B/D8520-EG00C

Tie Rod End
7801gms
020-1067

48640-EG025/48640-EG026
D8640-4GA0A/D8640-EG025
D8640-EG00C/D8640-EG00B

Tie Rod End
020-1069

56261-7S011

Tie Rod End,front,right
L:213mmW:44mm,H:70mmM10x1.25mm

M12x1.25mmAxial L:170mm676gms
020-1070

48520-4FJ0AD/8520-1KA0A
D8520-1KA0B/D8520-3SG1A

Tie Rod End
M10x1.25/M12x1.25mm

Cone size:11.8mm687gms
020-1071

D8540-1KA0A/48640-4FJ0A
D8640-4FJ0A/D8640-1KA0A

Tie Rod End
L:177mmCone size:14.7mm

M16x1.5mmW:44mmH:90mm
020-1068

48520-CK025

3

NISSAN CATALOGUE

Tie Rod End



Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich

Ball Joint,Front,Right
M18x1.25mm,M10x1mm
Cone:19.5mmDia:11mm

020-2002
40160-48W00/40160-48W25

40160-B9500/40160-F1700/40160-T3060

Ball Joint, Lower,Front
Datsun 

1200M14x1.5mmH:94
020-2003

40160-H7400

Ball Joint,Lower,Front,Right
M14x1.50mm

Cone:17.2mm,Dia:10.2mm
020-2005

40160-A8600/40160-A8610
40160-A8625/40160-U7000

Ball Joint,lowe,Le�
M12x1.25mm

Cone:13mm,Dia:11mm
020-2006

40160-01A00/40160-01A25
40160-A03G0/40160-A06G0

Ball Joint
M18x1.5mmCone:19.6mm

Moun�ng points  diameter:10.5mm
020-2007

40160-7F000

Ball Joint 
Ext thread:M18x1.5mm

Cone:19.6mmDia:10.5mm
020-2008

40160-50W25
40160-93G25/40160-0F000

Ball Joint, Upper
Ext thread:M12x1.25mm
Ext thread:M8x1.25mm

Cone:13.5mmDia:8.5mm
020-2009

40110-G5110

Ball Joint
H:90mm,L:105mmW:72mm

Thread 1:M14x1.25mm
Thread 2:M14x1.25mm

020-2011
40160-W5000/40161-H7427/40161-W5000

Ball Joint
Ext thread: M12x1.25mm

Cone:13mmDia:11mm
020-2012

40160-01A25/40160-01A00
40160-A03G0/40160-A06G0

Ball Joint
Cone:16.3mm

Ext thread M16x1.5mmSW:24
020-2013

D0160-0W025

Ball Joint
Cone:18.9Cone Pitch:1/8

Thread-R-M16x1.5mm
020-2016

40160-T3025

Ball Joint
020-2018

40160-41B00
40160-4F105/54500-41B01
54500-2U001/54500-2U711

Ball Joint
M14x1.5mmCone:19mm

020-2019
40160-00QAB

Ball Joint
Cone:24mm
020-2021

40160-00Q0B
GM 093194857

Ball Joint, Front, Lower, Le�
Dia:41.20mm
020-2022

40160-W2210/40160-W2200
40160-W1001/40160-W1000

Ball Joint
Dia:48mm , H:79mm

Cone:20Bore Dia:41.3mm
020-2020

40160-CA000/40160-1HM0B/40160-9W200
40160-9W20C/40160-9Y000/40160-CA010

Ball Joint,Upper,Front
M14x1.5mm,Cone Pitch:1:8

020-2001
40110-01G25/40110-01g00/40110-01g27/40110-0f000
40110-22t00/40110-22t25/40110-22t26/40110-B9500

40110-T3060/40110-T6000/40110-T6025
40110-V01000/D0110-01G26

Ball Joint
Cone size:16.7mm, Cone size:20.65mm

Nos of Holes:3 , 694 kg
020-2014

40160-0W025
40160-0W000/D0160-0W025

Ball Joint
M14x1.5mmCone:14.5mm

020-2015
40160-Y02G0/40160-69Y10/40160-69Y00
40160-60Y20/40160-60Y10/40160-60Y00
40160-52Y00/40160-50Y10/40160-2Y000

54500-2Y412/40160-2Y411

Ball Joint
M18x1.5mm, Cone: 21.8mm

020-2017
40110-2S485/40160-2S485/40160-25601/40160-2S486
40110-2S685/40110-2S686/40110-3S600/40160-01G50
40110-8B425/40110-8B525/40110-9Z050/40110-VJ200

Ball Joint
020-2023

54524-8B525/54668-1AA0A/54524-2S686/54524-8B550
54524-VK085/54524-VK385/54524-2S486/54525-2S685
54525-8B525/54525-8B550/54525-VK085/54525-VK385
E4524-3S486/E4524-2S686/E4524-VK085/E4524-VK385
E4525-2S486/E4525-2S686/E4525-VK085/E4525-VK385

Ball Joint, Front, Le�
M18x1.5mm,Cone size:22.2mm,700gms

020-2024
40160-2S601/40160-2S685/40160-2S686/40160-9Z510/54500-2S685SK

54500-2S686/54500-2S688/54500-2S688SK/54500-VK300/54500-VK300SK
54500-VK325/54500-VK325SK/54501-2S685/54501-2S685SK/54501-2S686

54500-2S686SK/54501-2S688/54501-2S688SK/54501-VK300
54501-VK300SK/54501-VK325/54501-VK325SK/54501-VK385

54501-VK385SK/E4501-VK385/E4501-VK385 SK

4

NISSAN CATALOGUE

Ball Joint
Nissan Caravan,Urvan

M18x1.5mm
020-2004

40160-VW000

Ball Joint
M12x1.25mm, M8x1.25mm

Cone: 13.5mmDia:8.5mm
020-2010

40110-G5100

Ball Joint



Ball Joint
M14 X 1,5
020-2033

40110-T3025/40110-T3002
40111-T3002/40111-T3025

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich

Ball Joint
020-2025

54500-9Z5105/4501-9Z510/54500-8B525
54500-8B5505/4500-8Z400/54500-9Z555
54501-8B525/54501-8B550/54501-8Z400

Ball Joint
300gms
020-2026

40160-01B25/40160-4F105
40160-4F105/40160-21B00
40160-4F100/40160-4F125

Ball Joint
Cone size:13mm240gms

Bolt:16mmOd1:38.3mmOd2:46mm
020-2027

40160-AX000/54500-AX600/54500-AX600Sk1/54500-BC41A
54500-BC41ASk1/54500-BC42A/54500-BC42ASk1/54501-AX600
54501-AX600Sk1/54501-BC41A/54501-BC41ASk1/54501-BC42A

54501-BC42A Sk1

Ball Joint
293 gms, H:42mmL:38.5mm, Cone size:18mm

020-2028
40160-ED00A/40160-IKA0A/40160-1KA0B/40160-3SB0A
40160-EE500/40160-EE530/40160-EL000/40160-EN001
40160-ET000/54500-EL000/54500-ET000/54500-IJY0A

54500-1KA0B/54501-EL000/54501-1JY0A/54501-1KA0B

Ball Joint Outer 
Datsun

thread:M18x1.5mmCone:21.8mm
020-2029

40160-01G50/40110-EA00A

Ball Joint
Ext thread:M14x1.5mm

Cone:14.5mm
020-2030

40160-50Y00/40160-69Y20

Ball Joint
M18x1.5mm
020-2031

40110-EA00A

Ball Joint,Front, Right
M14x1.5mm Cone:18mm

020-2032
40160-50A00/40160-4M410

5

NISSAN CATALOGUE

Ball Joint
Rack End

Rack End
L:280mmExt thread:M12x1.25mm

Ext thread :M16x1mm
020-3001

48521-70A00

Rack End
020-3002

48521-P0001

Rack End
Thread 1:M12x1.25mm
Thread 2:M14x1.5mm

020-3003
48521-60Y25/48521-Y02G0

Rack End
Thread1:M12x1.25Thread2:M14x1.5mm

020-3004
48521-60Y25/48521-Y02G0/48521-0E000/48521-2J325
48521-2J326/48521-2J385/48521-2J386/48521-4Z001
48521-60Y05/48521-7J125/48521-7J126/49200-2F900
49200-2F910/49200-2F911/49200-9F600/49200-9F610

Rack End,Front,Le�
020-3002

48521-50Y00/48521-Y02G0/48521-50400
48521-50Y25/48521-50Y26/48521-D0100

48521-50Y27/48521-Q5600

Rack End
L:280mmExt thread: M12x1.25mm

Ext thread : M16X1mm
020-3003

48521-70A00/48521-35F00
48521-70A06/48521-D0100

Rack End
L:307.8mmM14x1.5mmM16x1mm

020-3004
48521-27N00
48521-27N25

Rack End
L:285mmM14x1.5mmM16x1mm

020-3005
48521-8H328/48521-8H386

48521-4M500/48521-4M588/48521-4M528
48521-4M587/48521-8H300/48521-8H325

Rack End
L:301mmM14x1.5mmM12x1mm

020-3007
48521-00QAG/48521-00qag sk

Rack End
M12x1mm RHTM12x1.5mm RHTL:209.5

020-3008
48521-4548R/48521-00Q0D

Rack End
L:147.8mm
020-3006

48521-01F00
48521-P9001/48521-W1001
48521-W1000/48521-01F06

Rack End
020-3009

48521-G5200/48521-72E06
48521-06R05/48521-06R06/48521-71L00
48521-71L25/48521-71V06/48521-71V08

48521-72E00/48521-72E08

Rack End
020-3010

48521-CG000
48521-CG025

Rack End
020-3011

48521-01B25
48521-17B00/48521-17B25

Rack End
L:222mmExt thread M12x1.25mm

Ext thread M14x1.5mm
020-3012

48521-1HM0A
48521-3U025/48521-3U010



Rack End
L:301mmM14x1.5mmM12x1mm

020-3015
48521-00QAG/48521-00qag sk

Rack End
M12x1mm RHTM12x1.5mm RHTL:209.5

020-3016
48521-4548R/48521-00Q0D

Rack End
L:147.8mm
020-3014

48521-01F00
48521-P9001/48521-W1001
48521-W1000/48521-01F06

Rack End
020-3017

48521-G5200/48521-72E06
48521-06R05/48521-06R06/48521-71L00
48521-71L25/48521-71V06/48521-71V08

48521-72E00/48521-72E08

Rack End
020-3018

48521-CG000
48521-CG025

Rack End
020-3019

48521-01B25
48521-17B00/48521-17B25

Rack End
L:222mmExt thread M12x1.25mm

Ext thread M14x1.5mm
020-3020

48521-1HM0A
48521-3U025/48521-3U010

Rack End
L:233mmInt thread : M14x1.5mm

Ext thread : M22x1.5mm
020-3021

48520-0C025
D8521-JD00B/D8521-JG00A

Rack End
L:300mmM14x1.5mm

020-3022
48055-95FOB

Rack End
L:269mmM161R

020-3023
48521-9Y027

Rack End,front le� & right
L:226mmExt thread: M14x1.5mm

Int thread M12x1.25mm
020-3024

D8521-1HA0A
D8521-1HA0A S1

Rack End RH/LH
020-3025

48521-VW025
48521-VW200

Rack End
020-3026

D8521-8AA0A

Rack End
020-3027

48521-4M425/48521-4M426
48521-4M485/48521-4M486/48521-6M025
48521-6M026/48521-6M085/48521-6M086

48521-4M427/48521-4M487

Rack End
M16x1.0mmM12x1.25mm

020-3028
48521-1M210/48521-50YOO

Rack End
L:216.5mmM12x1.25
M14x1.5mm505gms

020-3029
48521-1KE1A/48521-3RA1A/D8521-1KA0A
D8521-1KE1A/D8521-3RA1A/D8521-3SG1A

Rack End
020-3030

48521-7S000

Rack End, Front, Le� / Right
L:337mmM14x1.5mmM16x1mm

020-3031
48521-8J000

Rack End
L:193mmM16x1.5mm540gms

020-3032
57724-2B000

Rack End ,LH/RH
020-3033

48521-AL685
D8521-AL500

Rack End ,LH/RH
020-3034

48521-EA000

Rack End
L:268mmM14x1.5mmM16x1mm556gms

020-3035
48521-CB025

48521-CB026/48521-CB027

Rack End
020-3036

48521-40U26/48521-0C000/48521-0C005
48521-0C025/48521-2Y485/48521-40D25
48521-40U01/48521-40U25/48521-40U27
48521-4U000/48521-4U025/48521-4U085

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 6

NISSAN CATALOGUE

Rack End

Rack End
L:233mmInt thread : M14x1.5mm

Ext thread : M22x1.5mm
020-3013

48520-0C025
D8521-JD00B/D8521-JG00A



Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 7

NISSAN CATALOGUE

Sway Bar Link
Ext thread:M10x1.25mm

020-4001
54618-50Y005/4618-D5010/40160-85E00/
56260-60Y00/56260-60Y10/56260-60Y20
56260-60Y22/4618-50Y00/54618-4M400

Sway Bar Link
020-4002

K-8643

Sway Bar Link
L:85mmM12x1.25M10x1.25

SW:19/SW:17
020-4003

54618-0F000/54618-MB40A

Sway Bar Link, Front
L:98 mm Ext thread:M10x1.25mm

SW 17/SW 12
020-4004

54618-0E000

Sway Bar Link
M10x1.25mmSW:17

020-4009
54618-58Y10/54618-58Y20
54618-58Y21/54618-58Y60

Sway Bar Link
L:210mm,Od:10mmM10x1.25mm

SW:14/SW:12mm
020-4008

56260-0W001
56260-41G11/56260-VE000

Sway Bar Link, Front
Nissan Patrol

Thread 1:M10x1.25mm
Thread 2:M12x1.25mmL:130mmH1:63.5mm 
Stud Centre to Washer:110mmFull L:176mm

020-4007
54618-VB000

Rod/Strut stabilizer
L:90mmM10x1.25mmPipe dia: 8mm

020-5002
54618-2Y000

Rod/Strut stabilizer
L:90MMExt thread M 10X1.25mm

020-5001
54668-2Y00A
54668-2Y000

Rod/Strut stabilizer, Right
L:65mmExt thread : M12x1.25mm

Pipe dia: 12mmFull L:95mm
020-5004

54618-8H300

Rod/Strut stabilizer, Le�
L:65mmExt thread : M12x1.25mm

Pipe dia: 12mm
020-5005

54668-8H300

Rod/Strut stabilizer, rear, le�
Full L:113mmH1:66mmH2:60mm
Moun�ng L:85mmM12x1.25mm

020-5007
54668-9W200

Rod/Strut stabilizer, rear, right
L:65mmM12x1.25mm

020-5008
56261-7S010/56261-75011
54618-EA000/54618-EA010
54618-EB30A/54618-EB71A

Rod/Strut stabilizer, rear, le�
020-5009

56261-3JA0D
56261-3JA0B

Rod/Strut Stabilizer, Rear, Right
020-5006

54618-9W200

Sway Bar Link
Moun�ng L:70mmH1:60mm

Thread: M12x1.25mm
Thread 2: M10x1.25mmFull L:120mm

020-4005
54617-VW000

Sway Bar Link
020-4006

54618-6A00A

Sway Bar Link, Rear, Right
020-4010

54618-50J11/54618-50J10
54618-50J20/54618-50J60/56260-01J10

56260-VC300/54618-50J21/54618-57C60
54618-57C00/54618-57C10/54618-57C20

54618-57C21/56260-01J00

Rod/Strut stabilizer
5mm,H:58.5mmM10x1.25mm

020-5003
56261-86J25

45261-90J01/56261-86J00
56261-90J01/56261-50J00

Rod/Strut stabilizer
L:65mmExt thread: M12x1.25mmSW:19

Pipe dia:10mm
020-5010

54668-EA010
54668-EB30A

Rod/Strut stabilizer, front, le�
75mmM12x1.25mm

020-5012
54618-7S000
54618-EZ00A

Rod/Strut stabilizer, front, le�
H:56.25M12x1.25mmMoun�ng L:65mm

020-5013
56261-7S001

Rod/Strut stabilizer
020-5014

56261-JA00A
56261-1AD0A

Rod/Strut stabilizer
L:115mmExt thread: M10x1.25mm

020-5011
56261-EQ000

Sway Bar Link

 Rod / Strut Stabilizer



Stb Link, Front, Le�
QASH, XTRAIL, KOLEOS

020-5038
54668-JD00A

54668-1AA0A/54668-1AA0E

Stb Link, Front, Right
QASH, XTRAIL, KOLEOS

020-5037
54618-JD00A
54618-1AA0A

Stb Link, Front, Right
MURANO 2008

020-5035
54618-1AA0E

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 8

NISSAN CATALOGUE

Stb Link, Suspension, Le�
L:308mmM12x1.25mm

Pipe dia:13mm
020-5020

54668-CN01E

Stb Link, Suspension, Right
L:338mmOverall H:72mm
Ext Thread: M12x1.25mm

020-5019
54618-CN01E/54618-8J000
54618-CN010/54618-CN011

Stb Link, Rear-Le�/Right
020-5021

54616-HA00A

Stb Bar Link Kit
L:225mmExt thread:M10x1.25SW:14

020-5022
54618-JX00A/64618-ED000/54618-ED000
54618-ED00A/54618-1FE0A/54618-3U800
54618-3U801/54618-9U00A/54618-AX400

54618-AX401/54618-JX30A

Stb Link
Ext thread: M12x1.25mmSW:19

020-5024
48560-2S625
D8560-VK90B

Stb Link
Overall L:815mmOverall H:75 mm

Fixed dia:13mmInnder dia 1:15mm
Ext thread: M12x1.25mm

020-5023
48560-15G28

48560-15G25/48560-15Q25

Stb Link
L:830mmM12x1.25mmSW:19

020-5026
48560-31G25

48560-31G26/48560-41G25

Stb Link, Centre
020-5025

48560-2S485
D8560-VK91B

Stb Link
L:820mm

M12x1.25mmSW:19
020-5027

48560-61G25

Stb Link
L:835mmM12x1.25mm

020-5028
48560-3S525
D8560-VK90A

Stb Link
L:1126MMThread 1:M12x1.25mm

Thread 2:M12x1.25mm
020-5029

48680-VB025/48680-VB000
48680-VC026/D8680-VB025/D8680-VS41A

Stb Link, Rear- Le�/ Right
L:248mmExt thread: M10x1.25mm

Pipe dia:8mm
020-5030

54618-AX600
54611-BH01A/54618-BC04A

Stb. Link
L:283mmExt thread:M12x1.25mm

Thread L:30mmSW:19Pipe dia:10mm
020-5031

54618-CY00A
54618-BA60A/54618-BA60B

Stb. Link, Le�
020-5032

54618-0W000/54617-VE700
54618-0W001/54618-3W400
54667-VE70/090105-17005

Stb Link
Ext thread: M12x1.25mm, SW:19

020-5034
48510-01G25
48630-01G25

Stb Link
Ext thread: M12x1.25mmSW:19

020-5033
D8510-VK91A/48510-2S485

48510-2S486/48510-2S487/48510-8B425
48630-2S485/48630-2S486/48630-2S487
48510-2S425/48630-8B425/D8630-VK91A

Rod/Strut stabilizer, le�,rear
020-5015

56261-JA00B
56261-1AD0B

Rod/Strut,stabilizer
Id:12mmL:143mmPipe dia:14mm

020-5017
55619-JD00A

55619-JD01a/55619-JY00B

Rod/Strut,stabilizer
020-5018

54619-JY00B

Rod/Strut stabilizer
Id: 12mmL: 143mmPipe dia:14mm

020-5016
55618-JD00A/55618-JY00B

Rod / Strut Stabilizer
Stb Link

Stg Linkage

Stb Link, Front, Le�
M12x1.25, M12x1.25

MURANO 2008
020-5036

54668-1AA0E



Idler Arm
HARDBODY 4x4, 4WD

020-7002
48530-31G25

Idler Assy
020-7001

48530-T3060

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 9

NISSAN CATALOGUE

Stg Linkage
Idler Arm

Control Arm

Drag Link
020-6007

48520-T3026
48510-T3026

Control Arm, LH
020-8009

54501-4LA0A

Control Arm, Lower Front Axle, Le�
4.6kg

020-8010
54501-4M410

54501-AV605/54501-AV60C
54501-AV600/54501-AV606/54501-AV60A

Control Arm
020-8005

54501-1HA6A/54501-1HA0C
54501-1HA5A/54501-1HA5D

54501-1HA7A/54501-1HK0B/54501-3VU0A

Control Arm, Front, Lower Right
020-8006

54500-1HA5A/54500-1HA6A/54500-1HJ0A
54500-1HK0A/54500-1HK0B/54500-1HK0C
54500-1HM0B/54500-3VA0A/54500-3VA1A
54500-3VU0A/54500-5FA1C/54500-5RB0C
54500-5RL1A/54500-9KC0B/54500-1HA6A

Control Arm, RH
020-8008

54500-4LA0A

Control Arm, Front, Lower Le�
020-8007

54501-3VU0A/54501-1HK0C/54501-1HA5A/54501-1HA6A
54501-1HJ0A/54501-1HK0B/54501-1HM0B/54501-3VA0A

54501-FA1C/54501-5RB0C/54501-5RL1A/54501-5RL1B
54501-9KC0B/54501-9KS1B/54501-9KS1C

54501-9KS1D/54501-9LF0A

Control Arm
020-8001

54500-4KH4A
54500-4KH1A

Front Control Arm
D22

020-8002
54501-2S686

Control Arm
Thread 1:M16x1.5mmW:440mm

H:100 MMl:480MM
020-8004

54503-00QAA/54503-00Q0B/54503-00QAB
54503-00Q0A/54503-00Q0F/54503-00Q0G

Control Arm
Id:14mmOverall Height:111 mm

Fixed Dia:19.5mmExt thread:M18x1.5mm
020-8003

54500-2S686

Idler Arm
SW:19

020-7003
48530-15G25

48530-2S485/D8530-VK91B

Idler Arm
020-7004

48530-35G25
48530-15G25

Idler Arm
Pick-up 4x4
020-7006

D8530-31G25
48530-3S525/D8530-VK90A

Idler Arm
SW:19

020-7005
48530-01G25/48530-01G00
48530-3S185/D8530-VK91A

Rod Assy, Sway BarL:160mm
Ext thread M12x1.25mm

Ext thread M10x1.25mmSW 19/SW 17
020-6005

54618-VC300

Drag Link-RHD, 28"
020-6006

48680-0T825

Center Link
L:700mm5.3kg

020-6008
48510-Z5113
48510-Z5115

Stg. Linkage
L:1160mmCone:  26mm

020-6001
48680-27J15
48680-27jJ10

Stg. Linkage
L:810mmExt thread:M12x1.25mm

SW:19
020-6002

D8560-VK91A/48560-3S125
48560-3S185/D8560-VK92A

Link Complete, lower, rear
020-6003

55110-01J00

Rod Assy, Sway Bar
L:165mmM10x1.25mmSW:14

020-6004
56260-VC310



Die Original Teilenummern der Hersteller dienen nur zum Vergleich 10

Control Arm Bush
OD: 62mm L Outer: 38mm
Id: 14mm  L Inner: 65mm

020-8019
40110-VC000/54582-VC100
54582-VC110/54582-VC11B
55130-VC000/55130-VC100

Control Arm Bush
020-8020

E4582-VB000/54582-01J00
54582-01J10/54582-26J00/54582-32J00

54582-VC100/54582-VC110/54582-VC11B
55130-VC000/55130-VC100/55135-01J01

Track Control Arm
020-8018

55120-2F5055/5120-8F800
55120-2J000/55120-0M000/55120-2J000
55120-2J200/55120-43U00/55120-43U01
5120-43U025/5120-4Z000/55120-95F0A

55120-BM400/55120-BU000/55120-2F000

Control Arm, Front, Right Lower
Cone size:18mm2.39kgId:12mm

Overall height:66mmFi�ed dia:18mm
020-8017

54500-ET000/54500-ET00B/54500-ET00C
54500-EL000/54500-IJY0A/54500-EW000

Control Arm, Front, Upper, Le�
020-8015

54525-5ZA0A/54525-ZC30A
54525-ZQ00A/54525-6JS0A

Control Arm, Lower, Le�
Id:12mmD:58mm252 gms

020-8016
54501-ET000/54501-ET00B
54501-ET00C/54501-1JY0A
54501-EL000/54501-EW000

Control Arm, Lower, Right
Cone size:13.3mm2.8kgH:90mm,

L:435mm,W:375mmM12x1.25mm
020-8014

45201-68L00/45201-71L00
45202-68L00/45201-53R02/45201-68L10

Control Arm, Front, Lower, Le�
H:85mm,L:430mm,W:390mm

Pitch bolt:19.5mm3.224kg
020-8013

54501-JG00B/54501-JG000
54501-JG00A/54501-JD000/54501-JY00A

54501-4CL1B/54501-BB00A/54501-BR30A

Control Arm, Upper, LH
020-8012

54525-EA000
54524-EA000

Control Arm, Front, Lower, Le�
020-8011

54501-EZ00B
54501-EZ00A

Control Arm Bush
Id:18mmOd:42mmThk:48mm

020-8022
54506-B9500

Control Arm Bush, front, upper
Od:45.4mmOuter L:40.8mm Inner L:55mmId:40.8mm

020-8021
54542-8B400/48068-30290/54524-2S485/54524-2S486/54524-2S686
54524-EB300/54524-EB30A/54524-VK085/54524-VK385/54525-2S486
54525-2S686/54525-EB300/54525-EB30A/54525-VK085/54525-VK385

54540-EB70D/54542-2S610/54542-2S610B/54542-2S610B/54542-2S610R
54542-2S610B/54542-EB70D/E4524-2S486/E4524-2S686/E4524-VK085
E4524-VK385/E4525-2S486/E4525-2S686/E4525-VK085/E4525-VK385

Control Arm Bush
Id:21mmL:70mmOd:62mm316gms

020-8024
54570-50Y11/54570-0M010
54570-0M020/54570-50Y10
54570-50Y00/54570-OM020

Control Arm Bush
Id:14mmOd:36mmThk:60mm203gms

020-8023
54560-50A00

Control Arm Bush
020-8025

54570-50A10

Control Arm Bush
Id:14.2mmL:40mmOd:35mm

020-8026
55157-50A00

55157-50A10/55152-50A10

Control Arm Bush
L:70MMOd:56.5mm
Thk:70mm284gms

020-8028
54500-52Y10

Control Arm Bush
020-8027

54570-0M010

Control Arm Bushing
020-8029

54131-H1000

Control Arm Bush
020-8030

55152 - 50A10/55120-50C00/55120-60Y00
55120-8H500/55120-8H505/55120-8H515

55121-62C00/55121-65J00/55157-62C00/55157-90J00
55121-65J0A/55121-8H500/55121-8H505/55121-8H510
55121-8H515/55121-EQ000/55152-50A00/55152-50A10

55152-50J00/55152-65J00/55152-90J10/55157-50Y00

Control Arm Bush
Id:22mmL:34mmOd:50mm

020-8032
54476-F0200/54472-01G00/54476-01W00
54476-F0200/54477-T6000/54477-T3060

54479-50W00/54479-F170054479-50W0A

Control Arm Bush
Id:21mmL:35mmOd:51mm

020-8031
54476 - 01G00

Control Arm Bush
Id:14mmOd:43mm262 gms

020-8033
54524-5ZA0A/54524-1LA0A

54524-EA000/54524-EB300/54524-EB30A/54524-EB70D
54524-ZC30A/54524-ZQ00A/54524-ZR00A/54524-4KH0A
54525-7S000/54525-EA000/54525-EB300/54525-EB30A
54525-EB70D/54525-ZC30A/54525-ZQ00A/54525-ZR00A
54525-4KH0A/54525-EB70A/54524-4KH0A/54524-7S000

Spring Bush
020-9001

55045 - B 5000
55045-20400

NISSAN CATALOGUE

Control Arm
Control Arm Bush

Spring Bush



Bush, Spring Leaf Nissan 
720Od:33mmOuter L:28.6mm

Id:15.5mmInner L:35mm
020-9003

55046-01W10/55045-B0700

Bush, Spring Leaf 
Id:17.5mmOd:37.5mm

Thk:35.5mm
020-9002

55046- R8000
55046-G9601

Strut Bar Rubber
H:25mmL:28mmH:16mm

020-9007
54476 - W5000

Bush, Spring Leaf
Id:17.5mmOd:47mmThk:37mm

020-9006
55045 - 01W10/55045-01WOO

55045-10W00/55045-G9600

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 11

NISSAN CATALOGUE

Bush, Spring Leaf
D1:32.5mm,D2:38.10mmId 

Dia 1:20.193mm , Id Dia2:37.465mm
020-9008

55046 - H1000

Bush, Spring Leaf
020-9009

54476 - H1001

Stb. Bush
Id:213mm
020-9010

54613 - VC223

Engine Moun�ng, Front, Le�
Nissan Caravan/Urvan

020-10001
11220-Y4400

Engine Moun�ng, Front, Le�
020-10003

11220-A0100

Engine Moun�ng, Front, Le�
Nissan Caravan/Urvan

020-10002
11220-Y4400

Engine Moun�ng, Front, Le�
Datsun

020-10005
11223-H9100

Engine Moun�ng, Front, Le�
020-10004

11223-H7300

Engine Moun�ng, Front, Le�
020-10006

11223-H1000

Engine Moun�ng, Front, Le�
Nissan Vane�e
020-10007

11223-H5000

Engine Moun�ng, Front, Le�
Datsun 720
020-10009

11220-B8000

Engine Moun�ng, Front, Le�
Nissan C20/22
020-10008

11221-O3W00

Engine Moun�ng, Front
020-10015

11220-01L10

Engine Moun�ng, Front, Right
H:107mmId:10mmL:143mm

Width:60mm916gms
020-10014

11210-50Y00
11210-0M000

Engine Moun�ng, Front, Right
020-10013

11210-0M000

Engine Moun�ng, Front, Right
020-10012

11221-C6000
11221-C6001

Engine Moun�ng, Front, Le�
020-10010

11220-R8361

Engine Moun�ng, Le�
020-10011

11220-08W02

Spring Bush
Engine Mounting

Bush, Spring Leaf
H:41mmL:32mmHole:16mm

020-9004
55046-07200

Bush, Spring Leaf
Id:20mmOd:38mmThk:37mm

020-9005
55046 - 01G00



Engine Moun�ng, Front
020-10017

11220-27G00

Engine Moun�ng, Front
020-10016

11220-W0401

Engine Moun�ng, Front
Nissan Bluebird 910

020-10020
11220-W1010

Engine Moun�ng, Front
D21

020-10021
11210-18G01

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 12

NISSAN CATALOGUE

Engine Moun�ng, Front
020-10024

11350-50A05 

Engine Moun�ng, Front
Nissan Cefiro A31

020-10025
11220 - 71L00

Engine Moun�ng, Front
020-10023

11220-10J10

Engine Moun�ng, Front
Nissan Patrol
020-10022

11220-10J00

Engine Moun�ng, Rear
020-10028

11320-B5000

Engine Moun�ng, Rear
Nissan Blue Bird

020-10029
11320-C6001

Engine Moun�ng, Rear
D21

020-10031
11320-01G00

Engine Moun�ng, Rear
Nissan Blue Bird

020-10030
11320-U6802

Engine Moun�ng, Rear
L20E+L20E.MT+LD28

020-10032
11320-R5600

Engine Moun�ng, Rear
020-10033

11320-R8060

Engine Moun�ng, Rear
020-10034

11360-50A05 

Engine Moun�ng, Rear
Bluebird Violet 910

020-10035
11320-W5800 

Engine Moun�ng, Rear
020-10027

11320-40N00
11320-30N00

Engine Moun�ng, Rear
020-10026

11321-H1000

Engine Moun�ng 
Nissan Bluebird 610

020-10037
11320-U2010

Engine Moun�ng
Nissan Sunny
020-10036

11223-J0102

Engine Moun�ng
020-10038

11220 - 10J02

Engine Mounting

Engine Moun�ng, Front
020-10019

11220-C6001

Engine Moun�ng, Front
020-10018

11320-11A01
11320-11A02
11320-11A03



Rear Spring Bumper
Nissan Urvan E24

020-11001
55240-R8201

Exhaust Hanger
D22

020-11003
20641-U6800

Exhaust Hanger
30/42x55/65mm

020-11002
20630-P4400

Orignal part number of manufacturers are for comparison only

Die Original Teilenummern der Hersteller dienen nur zum Vergleich 13

NISSAN CATALOGUE

Exhaust Hanger




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	NISSAN CATALOGUE OUTER COVER redl.pdf
	Page 1
	Page 2

	NISSAN CATALOGUE OUTER COVER redl.pdf
	Page 1
	Page 2




